C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 39,005 + 10,880 =

«—e ° ° ° > )
2) 53,523 + 34,399 = 3
4,

« o ] ° ° ° o »

3) 23,870+ 23,573 =

< ° ° ° ° ° o> .
4 69,108 + 232 = 8.
< ® ® ® ® >

5 30,972 + 12,598 =

< ® @ L ® L *—)>

6) 50,238 + 13,694 =

< ® @ L ® L *—>»

7) 64,346 + 27,977 =

< ® @ L ® L *—)>

8) 81,601+ 8,512 =

< ® @ ® @ ® >
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ﬂh Addition Using Open Number Lines Name: Answer Key
Solve each problem. Answers

1) 39,005 + 10,880 =

1 49,885
39,005 49,005 49,805 49,885
< S S < » 87,922
+10,000 +800 +80
2) 53,523+ 34,399 = 3. 47,443
53523 83523 87,523 87,823 87,913 87,922 4 69340
< o —— @& —— o6 — 66— 06
+30,000 +4,000  +300 +90 +9 s 43,570
3) 23870+ 23573=
6. 63,932

23,8/0 43,8/0 46,870 47,370 47,440 47,443

< .\_/.\_/.\_/.\/.\_/. > ; 92,323
+20,000 +3,000 +500 +70 +3

4) 69,108 + 232 = s. 90,113

69,108 69,308 69,338 69,340
< S —————— >

+200 +30 +2
5) 30,972 + 12,598 =

30,972 40,972 42972 43472 43562 43,570
+10,000 +2,000 +500 +90 +8

6) 50,238 + 13,694 =

50,238 60,238 63,238 63,838 63,928 63,932
——e— @& @ o o 0 )
+10,000 +3,000  +600 +90 +4

7) 64,346 + 27,977 =

64,346 84,346 91,346 92,246 92,316 92,323
+20,000 +7,000 +900 +70 +7

8) 81,601+ 8,512 =

81,601 89,601 90,101 90,111 90,113
“——e— e @ o 0o

+8,000 +500 +10 +2
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